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Run 5518 mpswise, accO: All
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Run 5518, mpswise, acc0: Beam ON, Laser ON
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Mean: 15.6336 +/- 00056

Sid Dev: 09705 +- 00040
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Run 5518, mpswise, acc0: Beam ON, Laser OFF

Eniries: 1737

Mean: 1.5130 +/- 0,00
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Run 5518 mpswise, BCM: All Run 5518 mpswise, BCM: Beam OFF
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Run 5518 mpswise, lasPow: All
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Run 5518, mpswise, lasPow: Beam ON, Laser ON
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Enlries: 3730

Mean: 22914932 - 02118

Sidl Dev: 1294581 +- 014497
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Run 5518, mpswise, lasPow: Beam ON, Laser OFF

Eniries: 1737

Mean: 6.1185 +/- 0.0119

Sid Dev: 1.57271 - 0.0054
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Run 5518 mpswise, bpmAx: All Run 5518 mpswise, bpmAx: Beam OFF
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Run 5518 mpswise, bpmAy: All
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Run 5518, mpswise, bpmAy: Beam ON, Laser ON
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Run 5518 mpswise, bpmAy: Beam OFF
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Run 5518, mpswise, bpmAy: Beam ON, Laser OFF

Eniries: 1737

Mean: 005351 +- OLD03
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Run 5518 mpswise, bpmBx: All
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Run 5518 mpswise, bpmBx: Beam OFF

|I_III|IIII|IIII|IIII|IIIIJ._III|IIII||-|II'I'I-.II|

Enlries: 3730

Meari: 15737 - 00018

Sid Dy 01092 - 0.00713

—1 0.5 0 0.5 1 1.5 2 2.5
bpmBx

Run 5518, mpswise, bpmBx: Beam ON, Laser OFF
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Run 5518 mpswise, bpmBy: All
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Run 5518 mpswise, bpmBy: Beam OFF
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Run 5518, mpswise, bpmBy: Beam ON, Laser OFF
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Run 5518 mpswise, beam ON, laser ON
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Run 5518 mpswise, beam ON, laser OFF
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Run 5518 mpswise, beam OFF, laser ON
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Run 5518 mpswise, beam ON, laser ON Run 5518 mpswise, beam ON, laser OFF
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Run 5518 mpswise, beam OFF, laser ON
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Run 5518 mpswise, beam ON, laser ON
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Run 5518 mpswise, beam ON, laser ON Run 5518 mpswise, beam ON, laser OFF
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Run 5518 mpswise, beam OFF, laser ON
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Run 5518 mpswise, beam ON, laser ON
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Run 5518 mpswise, beam ON, laser OFF
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Run 5518 mpswise, beam ON, laser ON Run 5518 mpswise, beam ON, laser OFF
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Run 5518 mpswise, beam ON, laser ON
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Run 5518 mpswise, beam ON, laser OFF
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